Problem Solving

1. There are three Grade 6 classes.  If each class has 26 children in it, how many Grade 6 children are there?

2. Lisa is 13 and her dad 42.  What is the difference in the ages of Lisa and her dad?
3. For the barbecue 123 children ordered sausages and 47 ordered hamburgers.  How many people put in an order for the barbecue?

4. Six children shared the prize money of $90.  How much should each get?
5. Sasha paid $31.85 for a new shirt and $68.90 for a skirt.  How much did she pay altogether?

